Total Marks:15

Class:9th

Subject:Math(Objective)
Choose the best answer.Cutting overwriting and use of inkremover is not allowed

L ¢
Adjoint of matrix {a ]} is :
d
a b

a) LQC ;ﬂ b) {_L B a’}

d —b a c d -b a c

c) L J L L d} c) L a } & |:b d}

? Real part of complex number 2ab(i +1i ?) ?LL-------»-----»----,A?Lk}glab(i + iz)ﬁ‘b’g
is:
a) - 2abi b) 2abi a) - 2abi b) 2abi
c) -2ab d) 2ab c) -2ab d) 2ab

* Scientific Notation of 0.0643 is ... e A35%1-40.0463
a) 643x102  b) 643 x 102 a) 6.43x102 b)) 64.3x 102
) 643x10%  d) 6.43x10% ) 643x 104 d) 6.43x10*

4 The degree of polynomial 4x'+2x’y.dS %.... 2 4 4xM42xy
a)l b)2 a)l G- (554 14
c)3 dy4 )3 d)4

5 The factor of X - 5x + garer..... IR S— d/b’é_lzlﬁxz 5%+ 6
a) x+1,x-6 by x=2,x-3 a) x+1,x-6 by x-2,x-3
c) x+6,x-1 ORNX +2,x+3 c) x+6,x-1 d) x+2,x+3

5 H.CF ofx-2and’x” +X -6 ..... -a-v-m-wf‘jjbl&(xz +X-61x- 2u:L’-

|

a) X +x 6 b) x+3 a) X +x-6 b) x+3
c) x-2 d) x+2 c) x-2 d x+2

7 If th&eapacity ¢ of an elevator is at most ol sl 'claldl JLU%U?J. J.u’ .,g
1600 pounds, then ..... corermeseesersnesssnenseenn 0 231 1600
a) ¢ < 1600 b) ¢> 1600 a) ¢ < 1600 b) ¢>1600
¢) ¢< 1600 d) ¢> 1600 ¢) ¢< 1600 d) ¢>1600

& The point (- 2, - 3) lies in quadrant ...... ‘Lau:ﬁza,c):]z&ﬁ”(— 2,-3) 8
a) I b) I a) I b) I
¢) T d) v ¢) III d) v

9 How many angles are equal to 9(° in mejgooe_,uzufwﬂ,;ng
right angle triangle? - Y
a) | b a) 1 b) 2 .
c) 3 d) None of these c)3 d) e i

"% The symbol for line segment is: igywpﬁ:}.’ﬁ
a) b) — a) b) —/
c) d 1 c) d 1

"' The symbol of parallelogram is: -LLt'lgLﬁg{:JﬁbU? s L1 S 515
a) II b) Mgm a) II b) Il gm
c) gmIl d) = c) gmIl d)y =

" Any point inside an equidistant & (JsJ L.c.CJ l,bﬁ..g{_iﬂté _______ J(
from its arms, is on the bisector of it: . i -‘at}f}-ﬂwﬁu’;v
a) Side b) Angle 2) & P
¢) Triangle d) Circle c) &b d) »50

13 . . i el - f
Equality of two ratios is defined as: il ‘d/ ﬁﬁﬁﬁﬁﬁ )/uw Ld/.u.uwéurﬁj
a) Ratio b) Proportion a) o’ b)
c) Directly proportion €) bl
d) Inverrely propertion d) __/l':u’:ﬁ’

14 Area of is equal to (I Doy S
(base x alititude).
a) Parallelogram b) Triangle a) Lueungins b) &>

¢) Square d) None of these

If the three alituteds of a triangle are
congruent, then the triangle is

a) Isosceles b) Equilateral
c) Rightangled d) Acute angled
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b) LueuiSsln

d) o5k

a) u-‘:’.LJld)Lf
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Time:15min



